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The problem of relation bamboo and scroll
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At /|EDF
DE=DF
So it is isosceles

namely ZEDF=90°
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From2) £ DF1=45°
So ZIDF=180-90-45=45"
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Similarly , the opposite side is
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So it need 4shaku 3sun to put the scroll.
But this square’s to area is 4shaku 2sun. So we

can’t
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From@) the angle of the bottom is the same.
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1.8=2=0.9 3.8+-2=1.9

1.9—0.9=1.0

1.0=-5=0.2

0.2+3.8=4

4=-2=2 SN TDIE
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2-51.8-51.6->1.4-51.2->1.0>0.8¢% 5,
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1.6+1.4+1.2=4.2
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1.8+—2=0.9
3.8+—2=1.9
1.9-0.9=1.0
1.0=—5=0.2

0.2+43.8=4 4-—2=2=Passage this is

the bottom.

Go decreased by 0.2 toward the

section above.

There fore , in order from the section

FES A m———

below.

2->1.8-21.6-21.4-1.2-51.0->0.8

and it is. ]
The answer you see is Because it is l
section3 of the middle.

1.6+1.4+1.2=4.2
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This sentences is ve

ry long
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it has become the two groups joint work,

Japanese translation work is bogged down because of the long sentence

Time to be applied to the other has become less
So, it had to be omitted one question the problem that was originally three questions
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